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L BEVEC+(a-2)VK -1+ 2 r@BIAS - REW (a,b) =

RO =(2x*—x*+3x—5)° » &K f(x) REARPSIREEZIR

Hf(x) =2x6—8x° —12x* + 7x3 + 13x2 + 9x + 2 » K f(5) =

TRRE f(x) =2x" —6x +27E 1 < x < 3HVEED * f(x) IRAERR/MEZIA

BX0 f(x) = —2x° + 18x? — 55x + 62 LAY f(x) = —2(x —h)* +p(x —h) + k » FHAKREHE (p,h k) =

Bl deg(f(x) =3 By =f(x) BOEBPLR(1,2)  BfG=-2"Kf-D=__ < (&R:
SRARHEIEE)

WBEE -y = f(x) HERZER xR (-2,0) 0 (1,0)  HAKBE () <0

KB (x2+x+1)(x+1)2(x—2)3(x2+2x—-3)<0

B () =ax®+2V3x+a—-2+ & f(x) > 0 MEBEE - KB «WEER

BoNARER () =x>+ax+bh < OBIRE 2<x <4 RKE¥ (a,b) =

FEE 1078 > SR f(2x +1) = 0 BIEER




PONEEDE]  SOFRiREE

2Rlax® —2x2+x— 1A x%2 + bx — 1 TEBHI 3x + ¢’ BAT, 20x — 9 » SKEH (a,b,c) =

Bf)=x*—6x3+7x2+10x+ 1 HKRKRf(3+V2) =

BB y=f(x)=ax’+t4ax+a®* BEKRKES ' Ka=

B f(x) BR=RBIRAKE > & () R (x—1) v (x+1)  (x—2) BIBRNDBIR -3 > —1+2 K
F) BRBA (x = 1)(x + 1)(x — 2) BUBRINAR

BRI f() R=RBRARB S/ =R =fB3)=0" B f(® =-12> 5K f(0) =

BRI f() R=RBRARB - S /(D=f2)=3>f@) =9 f(-2)=-21>Kf(-1D =
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B f(x) RERBIRARE - By =) OHEBPOR (1,2) » KEFKEELR y=3x> B f(2) =6 K
f@) = °

B%0 f(x) =2x° + bx* + cx + 3 BHEEPLOR (1,1)  KEH (b,c) =

BRI f=2x+bx+cx=3 > Fy=f) Ex=1HEH—TCABRER 5x—2 > KEH (b,c) =

KRBIET, (x3+2x? +3x+ 1) R x?2 + x + 1 BUER TN

B f() R=RBRIAXY - HERFRBER 1" SO <0WBERx<-1Hx=2" K f(x) >4 BER

BX0 f(x) = 2x* + bx* + cx +3 > B g(x) = bx? + cx = 3 FIHITHMR x =% By =) RESEBRE - e
BREAELL "V BIRE - SREH b VEER
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